
i. Fill in the blanks 

i. 4.5 × 10 = ______ 

ii. 7 × 0.1 = ______ 

iii. 3.2 + 1.5 = ______ 

iv. 6 ÷ 0.5 = ______ 

v. 8.4 – 3.7 = ______ 

ii. True or False 

i. 0.1 × 5 = 0.5 

ii. 2.5 is greater than 2.05 

iii. 3.0 and 3 are not equal 

iv. Whole numbers include all positive integers starting from 0 

v. 4.75 ÷ 5 = 0.95 

iii. Solve the following 

i. Multiply 3.2 by 4. 

ii. Divide 8.4 by 2. 

iii. Add 12.5 and 4.75. 

iv. Subtract 9.8 from 15.2. 

v. A water bottle holds 1.25 liters. How much water is there in 4 such bottles? 

iv. Word Problems 

i. Riya bought 2 chocolates for ₹12.50 each. What is the total cost? 

ii. A car travels 15.6 km in one liter of petrol. How far will it go in 4 liters? 

iii. A pencil costs ₹7.80. What is the cost of 5 pencils? 

iv. A rope is 23.5 m long. If it is cut into 5 equal parts, what is the length of each 
part? 

v. The weight of one box is 2.25 kg. What is the total weight of 6 such boxes? 

Whole number and decimals 


